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Introduction to M22 v 11w g

So far, we have dealt with the status of /w3 13— whether ANLY A0A3 1132 ('8 779) or 7717V 703 1122 (-2 D7PI9); there is a third type of 1122—
o7N 1123 However, 7133 carries status in two unrelated areas — w17y (requiring 11779 from 02772) and within the estate — 755 7133, who re-
cetves a double portion of inheritance. We will now turn our attention to o78 123, identifying those types of 117122 which have both, only one or
neither of these statuses. The key issue is the nature and status of their birth
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I 1% mwn: four categories of 122 — nYn1 only, 175 only, both, neither
a  7onionly: if he follows a %93, even if the head came out while alive; or follows a "0 12 who was stillborn
i orif he follows a 99 that looks like animal or bird (per n”1 — p'nan render those insignificant — cf. 2:1 1)
ii  orif: she miscarried and a partial human form came out
iii  if he: never had sons and married a woman who had already had children (and then they had a son)
iv  or if he: married a woman who had had a child when she was nnaw/n" and then was converted/freed
1 dissent: 31 —in this case, their first child together is also 1139 2133, per v. 1 — it is her Y®7w>2 N 09
b  jyonly: if he had had children and married a woman who never had children
i Or:if she converted or was freed while pregnant
ii ~ Or:if a first child got mixed up with one who is exempt (e.g. 119 ,n1n3) or NINRY T 12,NVRIY "0 12 Pav
1 Note: in case of "INRY "1 12/1WRIY "0 12 A, he isn’t a NYMY 723, implying that he inherits like a VW2
(a) However: each set of brothers could “send him” to the other set
(b) Answer (7207 77): it means that the one who is born next (3InRY) isn’t a nYmMY 1191 (either)
(c) Challenge: why don’t the pav and the next one write a nkw1n for each other, and together collect 3 por-
tions and divide them (since one of them is certainly the nbmb 1132)
(i) Cannot be: that our nwn is not addressing a case of NRWIN; as we later assess that there was a nRwn
(d) Answer: supports *R» "1 — the can only write a nRwI7 if they were first recognized then mixed (at birth)
I 9xnw’s dictum — exiting of the head of a Y91 isn’t sufficient to exempt the next (live) birth from nm22
a  Source: v.2 —only when alive (ax2 n»n m1 nnwa) is the head an “exemptor”
b Challenge: our mwn — head is invoked (first clause)
i Answer: YWR1 there means “majority” of the body; &1 used (instead of 1217) in parallel with xao
1  Because: in that case, if it is a "v j2 and alive, the next one isn’t even nombY 732
2 Challenge: is that merely teaching that wxy Ny is sufficient? Already taught (X:7 P5n)
(a) Proposal: perhaps this is teaching that it also applies to DR (not inferred from nnna, since nnNa has no
birth canal; nnna can’t be inferred from pTx, where there is a visage to consider)
(b) Rejection: that is also taught — (n:3 nT1) — once the baby’s head comes out, considered n1?
(c) Rather: S®1mw’s dictum is rejected
III  Dispute »/5"aw" re: significance of forehead (nn7a)
a  57wT exempts (as birth) for all but n9mY 7131 — per v. 3 (must be recognizable at birth to be considered 7131)
b »”% even exempts for nym% 12
i “for all”: to include " that had forehead born before conversion—no nkmv 'm’ and no "% 129p (born to M)
ii ~ Challenge (fo »7): 1 means “recognizing the face”, which means the face including the nose
1 Defense: read “until the nose”
iii ~Challenge: may not testify that man died (\nwR 7'nn%) without face and nose, per v. 4
1 Defense: nwr m7y is unique and we have a higher threshold
(a) Challenge: we allow 2"d-hand testimony, woman’s testimony etc. — it is more lenient
(b) Answer: since we are lenient once testimony is given, we are stringent about the ny1y itself
(c) Alternative answer: 12 is not the same as 09 n73n (requiring greater recongition)
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IV Dispute »/5"av1 re: a " who had children, then converted and had a son
a 71 that son is not a 1132 — he’s already had »mx nwr1 (v. 3)
b 57w7. that son is a 1191 — when someone converts, they are “reborn”
i Note: they are consistent with their rulings re: fulfillment of 172 08 before conversion
1 »72 he fulfilled 7"a — per v. 5
2 57wy didn't fulfill 99 — he is now “reborn”
ii  Justification:
1 If: we only heard of first dispute (re: 1123), ®*70 that 5"aw holds his position as 0 don’t have nbm
(a) But: in the case of 1", he may agree with j3nv "1 per v. 5 (flip justify)
iii =~ Challenge (to »7): from our mwn — if he was childless (so far) and married a woman who had had children as a
7 or NMnaw and then had a son with him after conversion/liberation — n9m9% 7131 (but not jn3%)
1  Question: with whom did she have this second child?
(a) If: from a Y81w’ who had not yet had sons — we could have presented this case with a m9xw
(b) Rather: must have been with a 93 who had had sons and then converted - supporting 5”2
(i) Rejection: the new son is born of a 987w’ who had never had sons;
1. Justification: needed to present as N1 to teach 1n3% M22 108, contra »'nn (v. 1)
iv  Challenge (to »7): from ®n»71 — if he had had sons before converting, his first son afterwards is non> 7132
1 Defense: that Rn»731 was certainly authored by 377, who (must have) inferred male status from female
V  r"aR7's ruling about a m"% — her son is exempt from D’yYo 'n
a  Question: who is the father? If 113 or % — she could even be a YR7w’ na
b Rather: must have been from a 587w — but v. 6 should militate in favor of obligation (follows father’s status)
i Answerl (97): father was a non-Jew
1 And: this is true not only according to opinion that pnnm P& — we don’t identify him as son of »
2 But even: according to opinion that 7910 n& Pnnm — he’s still called 5102 nY
ii  Answer 2 (827 pw3): father was Y%7’ —but due to v. 1 (on1 109), mother’s identity is considered
iii ~ Challenge (to 97): end of mwn->nM% nind are exempt
1 Father cannot be: "9 103 — then we wouldn’t need her to be 715 nans to exempt
2 Rather: must be from »
(a) However: in such a case, as per X17’s test, min3 should be liable
(i) ~a7 asked if a mn> becomes pregnant from "3 — what is the status of her son
(if) 97 answered from ®"aR7’s ruling (which he considers to be a case of " as father)
(iif) w37 distinguished, based on the fact that if a 1 is captured or has mar n%y3, still gets wyn
1. But:if a mana has nir nYw3, she’s considered a nr (2no nmMan) - should be liable for nyYo 'n
3 Note: this could be answered by qo» "7 72 91, quoting X171 — case of R”ar7 was YR father
4 971 could defend his position — nind in our Mwn is a YR1Y’ N1, married to 113 —called M3 since her son is 113
VI The jn3 who died and left a Y9n 12 (who was a 7133)
a  n”7 the son is obligated to redeem himself
b &1727 92 727 the son is exempt from 1178
i Parameters of dispute: if father died after son had lived 30 days — all agree that he is exempt; father was 1791 N2
ii  Dispute: if he died within first 30 days (no avn yet)
1 n”: obligated, since father never “took possession” of the 1179
2 717727 son says to other 112 — “I represent someone whom you could not have sued” (dead father)
(a) Challenge (to 7772%): in our mwn, if she was pregnant and then converted (1st child) — 792 27n
(i) But: according to n"117, son should be able to use same argument — since father is
(if) Defense: " has no vin» (<his position is not considered)
3 57wy ruled that if father died within first 30 days, son is obligated to redeem himself (supporting n")
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